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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,686 85,982 40,946 45,036
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 178 583 283 300
RIRET4T 418 968 480 488
B 629 1,624 800 824
REH 2,776 6,148 2,863 3,285
L&A 4,346 9,344 4,356 4,988
5E 2,671 5,858 2,831 3,027
B AN 1,328 2,818 1,321 1,497
BERT 1,423 1,955 943 1,012
BER2T 942 1,643 806 837
BERST 764 1,848 887 961
B 3,129 5,446 2,636 2,810
BEXRE 286 635 307 328
= 2,182 4,775 2,271 2,504
hERE 635 1,396 642 754
e 2,441 4976 2,406 2,570
25 L ET 2,337 4,969 2,381 2,588
B &AL BT 75 148 62 86
HEFILET1T 569 1,221 565 656
HEFILET2T 602 1,231 584 647
HEZFILAT3T 696 1,565 759 806
g 1,942 4,165 1,970 2,195
B & it B Fr ET 683 1,523 737 786
BHEREBET1T 577 1,164 572 592
BHERERET2T 767 1,694 822 872
BHERERETST 790 1,581 721 860
BHERERET4T 506 914 429 485
HEKERETST 831 1,649 786 863
HEERET6T 907 1,901 921 980
BHERERET7T 894 1,811 875 936
HERERETST 72 202 97 105
£t| 5344 10916 5,223 5,693
HEF R FET 2,000 4,091 1,996 2,095
S|EFET1T 648 1,593 786 807
S|EFET2T 769 1,716 807 909
S|EFET3 T 750 1,371 632 739
g 2,167 4,680 2,225 2,455
ERE1T 591 1,311 628 683
EIRET2T 386 1,025 506 519
EREIST 525 1,312 644 668
EIRETAT 695 1,430 626 804
EIZEIST 557 1,195 594 601
g 2,754 6,273 2,998 3,275
ME A 2,933 6,160 2,897 3,263
J\THET1T 30 32 15 17
J\THET2T 24 51 26 25
J\THEI3T 49 102 45 57
B 103 185 86 99
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